B

Vocabulary : 20%
Choose the word(s) that best fills the blank of the sentence(s) with context

clues.

. The captain of a cruise ship that sank off an Aegean Sea island, sending more than

1,500 passengers and crew onto rescue boats, was charged Saturday with causing
a shipwreck through
(A. negligence B. convolution C. assumption D. designation)

Tourism officials hastened to play down the potential . on

Greece's vital tourism industry — which accounts for an estimated 18 percent of
the country's Gross Domestic Product.
(A. contribution B. impact C. caucus D. flare)

Iraq has found itself in a very difficult position since the
U.S.-led invasion four years ago. It has at once found it necessary to court good
relations with Tehran, its neighbor on the east, while not angering the Americans.
(A. freezing B. diplomatic C. foliating D. flurry)

The United States five Iranians in the northern city of Irbil
in January and refused to release them or allow Iranian officials a chance to visit

the men.

(A. detached B. distributed C. detected D. detained)

Despite the shock over her surprise eliminated, Gina Glocksen did take some

in the fact that the crowd started booing after her name was

announced as the eliminated contestant in the American Idol Show.
(A. avenger B. matins C. solace D. suppliant)

. Choase the word(s) that best keeps the meaning of the original sentence(s) if it

is used to substitute the underlined word.

Everyone acknowledges the fact that technology changes very quickly.

(A. demonstrates B. convinces ~C. recognizes D. predicts)
There are lots of tiny holes in a piece of cork, 50 air can penetrate it.

(A. go through B. moisturize C. affect D. herald)

The thawing snow provides us with water in the spring.

(A. freezing B. melting C. foliating D. babbling)

The diminishing glaciers are causing problems in the North Pole.

(A. remaining B. disappearing C. accumulating D. warming)

10. The new equipment intrigued me. I really wanted to try it.

(A. speculated B. radiated C. impeded D. fascinated)



11. Grammar & Structure: Choose the answer that best fits the blank in each
sentence. 20%
1. In the United States, about 25% of American children now

in single-parent families.

(A. grows up B. is growing up C. grow up D. have been grown

up)
2. In 1872, the first ship for ocean exploration set out on a

four-year trip around the world.
(A. equipped B. equipping C. to equip D. was equipped)

3. The fact that it is now easier to get a divorce the rise in the
number of single-parent families.
(A. contributes to B. contributed to C. are contributing to D. have
contributed to)

4, Al stayed up all night to study for a test, in the morning he was

exhausted and could not get concentrated..
(A. but B. so C.or D. for)
5. One of the first decisions many people make in the moming

what to wear.
(A.is B. are C. have been D. were)
6 When we say networking is harder to learn than web-page development, we mean

web-page development is to learn than networking,
(A. more difficult B. easier C. the easier D. more easier)
7. The restaurant next to the bank sells excellent spaghetti.
(A. that locates B. located C. locating D. is located)
8. The furniture is attractive nor well made.
(A. etther B. both C. not only D. neither)
9. 1regret all my money on TV games.
(A. having spent B.tohavespent  C. to spend D. costing)
10, the late hour, the guests did not seem ready to leave.

(A.Dueto B. According to C. In spite of D As a result of)

III. Reading Comprehension : 20%

Read the following statement or passage (sampling of Assessment Center of MMCC)
and then choose the best answer to the question. Answer the question based on what is
stated or implied in the statement or passage.



|. With varying success, many women around the world today struggle for equal
rights. Historically, women have achieved greater quality with men during periods of
social adversity. Three of the following factors initiated the greatest number of
improvements for women: violent revolution, world war, and the rigors of pioneering
in an undeveloped land. In all three cases, the essential element that improved the
status of women was a shortage of men, which required women to perform many of
society's vital tasks.

We can conclude from the information in this passage that

A. women today are highly successful in winning equal rights.

B. only pioneer women have been considered equal to men.

C. historically, women have only achieved equality through force.

D. historically, the principle of equality alone has not been enough to secure
women equal rights.

2. Plastics are synthetic materials that are so common today that we barely notice
them. The process of making plastics, called polymerization, is a little over a hundred
years old. Vinyl chloride was polymerized in 1838, acrylics in 1843, and polyester in
1847. Oddly, those newly synthesized plastics languished in polymer laboratories for
decades because no one had yet found a use for the new materials.

We can see from the information in this passage that

A. commercial use of a material does not always rapidly follow its discovery.

B. people had no need for plastics in the 1800's.

C. the introduction of plastics in the 1800's would have upset the world economy.
D. no practical types of plastics were invented until the 20th century.

3. Primitive people tended to be highly superstitious. Anything out of the ordinary
that happened was regarded with superstitious fear. Most people throughout history
have been right-handed. For that reason, left-handedness was regarded as an evi!
omen, The Latin word for left is sinister. Since many people regarded left-handedness
as bad, the word sinister entered the English Janguage meaning "evil."

From this passage we can conclude that fear and superstition usually grew from

A. lack of knowledge.
B. left-handedness.



C. evil omens.

D. terrifying circumstances.

4. In 1848, Charles Burton of New York City made the first baby carriage, but people
strongly objected to the vehicles because they said the carriage operators hit too many
pedestrians. Still convinced that he had a good idea, Burton opened a factory in
England. He obtained orders for the baby carriages from Queen Isabella IT of Spain,
Queen Victoria of England, and the Pasha of Egypt. The United States had to wait
another ten years before it got a carriage factory, and the first year only 75 carriages
were sold.

Even after the success of baby carriages in England,

A. Charles Burton was a poor man.

B. Americans were still reluctant to buy baby carriages,

C. Americans purchased thousands of baby carriages.

D. the United States bought more carriages than any other country.

5. All water molecules from six-sided structures as they freeze and become snow
crystals. Temperature, vapor, and wind conditions in the upper atmosphere determine
the shape of the crystal, Snow crystals are always symmetrical because these
conditions affect all six sides simultaneously.

The purpose of the passage is to present

A. a personal observation.

B. a solution to a problem.

C. actual information.

D. opposing scientific theories.

6. Myths are stories, the products of fertile imagination, sometimes simple, often
containing profound truths. They are not meant to be taken too literally. Details may
sometimes appear childish, but most myths express a culture's most serious beliefs
about human beings, eternity, and God.

- The main idea of this passage is that myths

A. are created primarily to entertain young children.
B. are purposely written for the reader who lacks imagination.



C. provide the reader with a means of escape from reality.
D. illustrate the values that are considered important to a society.

7. In the words of Thomas DeQuincy, "It is notorious that the memory strengthens as
you lay burdens upon it." If, like most people, you have trouble recalling the names of
those you have just met, try this: The next time you are introduced, plan to remember
the names. Say to yourself, "I'll listen carefully; I'll repeat each person's name to be
sure I've got it; I will remember.” You'll discover how effective this technique is and
probably recall those names for the rest of your life.

The main idea of the paragraph maintains that the memory

A. always operates at peak efficiency,
B. breaks down under great strain.

C. improves if it is used often.

D. becomes unreliable if it tires.

8. The ultimate source of energy for all plants and animals is sunlight. But the sun's
energy can be harnessed by plants, through photosynthesis, and stored in molecules of
carbohydrates. When animals eat these enzymes, large amounts of energy become
available. animals immediately convert this energy into molecules of high-energy
ATP (adenosine triphosphate) -- the universal currency of energy in living things.
Excluding only the very first stages in carbohydrate breakdown, which are called
glycolysis, the entire complicated process of energy transfer to ATP takes place
within the mitochondria.

Glycolysis refers to

A. the initial stages of carbohydrate breakdown.

B. the process of plants producing oxygen and carbohydrates.

C. the production of ATP.

D. the production of body heat which occurs in the mitochondria

9. Unemployment was the overriding fact of life when Franklin D. Roosevelt became
President of the United States on March 4, 1933, An anomaly of the time was that the
goverﬁment did not systematically collect statistics of joblessness; actually it did not
start doing so until 1940. The Bureau of Labor Statistics later estimated that
12,830,000 persons were out of work in 1933, about one-fourth of a civilian labor
force of over 51,000,000.



Roosevelt signed the Federal Emergency Relief Act on May 12, 1933. The President
selected Harry L. Hopkins, who headed the New York relief program, to run the
FERA. A gifted administrator, Hopkins quickly put the program into high gear. He
gathered a small staff in Washington and brought the state relief organizations into the
FERA system. While the agency tried to provide all the necessities, food came first.
City dwellers usually got an allowance for fuel, and rent for one month was provided
in case of eviction. FERA paid for medicine, some doctor bills {but no hospital costs),
work-relief, sewing rooms, and renovated hand-me-down clothing.

This passage is primarily about

A. unemployment in the 1930's.

B. the effect of unemployment on United States families.
C. President Franklin D. Roosevelt's presidency.

D. President Roosevlet's FERA program.

10. 1t is said that a smile is universally understood. And nothing triggers a smile more
universally that a taste of sugar. Nearly everyone loves sugar. Infant studies indicate
that humans are born with an innate love of sweets. Based on statistics, a lot of people
in Great Britain must be smiling, because on average, every man, woman, and child in
that country consumes 95 pounds of sugar each year.

From this passage it seems safe to conclude that the English

A. do not know that too much sugar is unhealthy.
B. eat desserts at every meal.

C. are fonder of sweets than most people.

D. have more cavities than any other people.

IV.  Translation: Translate the following excerpts into Chinese. 20%

1. Supportets of economic globalization contend that an important reason that some
countries are poor is that they are isolated from the world’s economic system.
They say globalization wiil bring much greater prosperity to these countries.
Opponents respond by saying that globalization will only make a bad situation
worse.

2. The Criminal Investigation Bureau (CIB) yesterday called for Internet users not
to use simple passwords and secret codes to prevent their personal data from being
circuiated on the Internet and forestall unlawful figures from embezzling deposits
from their online banking accounts.

V. Essay Writing: 20%
People seldom stand up for what they truly believe; it is easier to go along with the
popular view. Do you agree or disagree? Explain and illustrate your answer from your

[F % F ®iscmsin|

own experience, your observations of others, or your reading.




